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235 _ 1 3 2% _ 1 2+ =t fawifsm @ ah] 5.

oy qE HEN FR 2
(a) 34

(b) 90

(0 127

(d) 129

10 #1 AYSaw Tds T R AN PEEA
(product) 29 x 28 x 27 x ... 2 x 1 % fawifom
FER?

(a) 4
(b) 5
(¢ 6

d) 7

N
65% =1 11 & fawifom =@ =1 8 2

(@ 0 Q

Q
(b)) 5 @
€ 9

(d) 10

Ife Ffiw x® - bx + ¢ = 5% Hel P IJH 5 B,
at frafafea & & SR wd 2 2

(@) bl=4c+5
®b) 2=4b-5
(© b2+c2=5

d b%*-c2=5

(2-A)

150 & i wH gl #, 75 @ 99 o9 3§,
60 TN Il Td & 3R 50 ST ¥ o & | I
¥ 15 9 3R FH A A, A gu o
aren &3 ot =afes = T8 oar ® | 3 g §
Y% SAfh HH-8-%H U 94 odl 8, a1 Fad
39 o a1t sl i wen feat @ 2

(a) 560

(b) 40

(¢) 30

(d) 20

A, B, C, D 3 BT @G89 Y& Hd & |
3 2:3:4:5¢6% 3gua § ¢St FEaw @
& W9, % g T T w9
645 4: 3:2% | AR Ffer I aren e faw

TR s SR st < srpharaT 2, @ fhR
Qs & gTH B 2

(a) C

(b) B3R DI

(¢) €3 DeF

(d) @ = sTE @ B

Frafafea @t w faaw i .

1. 437

2, 797

3. 1073

I9GH FEATSl # Tt Tt sy # 2
(a) had Th

(b) FHae A

() Gt &

@ g o TE
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1.  What is the largest number which divides both | 5.
2P -1 and 2" -17
(a) 34
(b) 90
e}, 127
(d 129
2, What is the largest power of 10 that divides
the product 29 x 28 x 27 x ...2x1?
(a) 4 6.
(b) 5
() 6
@ 7
8.  What is the remainder when 65% is d@ded by
Q
117 R\
Sy
(a) O D
N
b) 5 N
$
e} 9
(d 10
7.
4.  If the roots of the equation x> -bx+c=5
differ by 5, then which one of the following is
correct ?
(8) b’=4c+5
(b) c*=4b-5
© b+c?=5
@ b*-c?=5
JNBY-D-MTK (3-A)

In a party of 150 persons, 75 persons take tea,
60 persons take coffee and 50 persons take
milk. 15 of them take both tea and coffee, but
no one taking milk takes tea. If each person in
the party takes at least one drink, then what
is the number of persons taking milk only ?

(a) 50
(b) 40
() 30
(d) 20

A, B, C, D and E enter into a business. They
invest money in(the.ratio 2 : 3 :4: 5 : 6.
However, the time invested by them is in the
ratio 6 : 5.: 4 37 2. If the profit distributed is
directly  proportional to time and money
invested,, then who receives the highest
amount of profit ?

(a) C

(b) BothBand D

(¢) BothCandD

(d) All get equal profit

Consider the following numbers :

1. 437
2. 97
3. 1073

How many of the above numbers are prime ?

(a) Onlyone

(b)  Only two
(¢) All three
(d) None
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8. A TS ®@ & BH go # g A F W
Al & | 39 TG B I FE &l C HI goAT
¥ 1-5 A1 Tfa & & FqhaT & | T Tt frerew 3|
@ # 12 &A1 § que = gHd & | C FaA
30 ® @i fraa T o qof ot aar 2 2
(a) 36f&

(b) 45fF
(¢ 60f&
@ e6fA

9. Tl 37| I Tk HEAT & Hehl & ATHA 122 |
Ife 3 # Ed-Eed fem S, o H@EE
I3NE ¢ AN | T&AT H 3ol & o HT Fal
TR
a) 1
b 2
¢ 3 @

N

d 4 §Q§
&
N

10. ﬁﬁn@aﬁ,%@%ﬁmﬁmtﬁ{aﬂ
Wﬁmagl‘éwwﬁﬁaﬁmaﬁﬁ
10 YU @ & | dEfh) Ay I et
e fem # < @hghar sai 20 FHUE @I
# | ugeh Yo Y @ard 200 m R 3R gEd
T Y 150 m B | TRt et i = w®an
22
(a) 60 km/hr
(b) 56 km/hr
(¢) 54 km/hr
(d) 52km/hr

JNBY-D-MTK

11.

12.

13.

(4-A)

aﬁa,b,c,d,eaﬂif,
2a = 3b = 6¢c = 9d = 12e = 18f Sl HJE Fd s,
W (a+b)fc+d+e+f HIUH TR ?

(a) 4/7

(b) 2
() 5/2
d 9/2

Hﬁa,b,cs@mmﬁmmi%,sam
ﬁ?a+b+c=0%,ﬁ€"ﬂ'$'(“lax2+bx+c=0
FUA RS ?

(a) /2, L4 (c/a)
(b) > 1,a/c
¢) 1,c/a

d 2 (cfa)-1

%o fasear g @il T Fal § | awg wfavd
A oS S O AE B WA & | ST 99§
el 1 S A faghar # Fot 4% F A BAa
® | afe feshar o1 ¢ oft Fen T T gon A
3 97 3% Wh 99 §U hell b qed W A
A=A, a Igeh @ gfereraan forat Bt 2

glo

(a) 9

1
b) 9—%
(b) 11

(c) 181 %

11

(d) 39 | § BIE TE
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9'

10.

JNBY-D-MTK

A can do a certain work at twice the speed of
B. Further, B can do the same work at
1-5 times the speed of C. All of them together
can finish the work in 12 days. In how many
days can C alone finish the work ?

(a)
(b)

36 days
45 days
(c)
(d)

60 days
66 days

The sum of digits of a 2-digit number is 12.
When the digits are reversed, the number
becomes greater by eighteen. What is the
difference between the digits in the number ?

(a) 1
(b) 2
() 3
d 4

The time taken by
travelling in another train is 10 seconds, when

train (to cross a man

the other train is travelling in the opposite
direction. However, it takes 20 seconds, if both
the trains are travelling in the same direction.
The length of the first train is 200 m and that
of the second train is 150 m. What is the speed
of the first train ?

(a) 60 km/hr
(b)
(c)

(d)

56 km/hr
54 km/hr
52 km/hr

(5-

11,

12.

13.

A)

If a,b,c,d, e and f satisfy
2a = 3b = 6¢c = 9d = 12e = 18f, then what is the
valueof (a+b)/(c+d+e+?

(a) 4/7
b) 2

() 5/2
(@ 9/2

If a, b, ¢ are non-zero real numbers such that
a + b + ¢ = 0, then'what are the roots of the

equation ax’ + bk % ¢ 0 ?

(a) 2,1#la)
()N 1,a/c
(ch, 1, c/a
d 2 (c/a)-1

Twelve percent of bananas bought by a fruit
vendor got lost during transportation. On
selling the remaining bananas, the vendor’s
overall profit turned out to be 4%. If the
vendor had not lost any bananas and had sold
them at the price of the remaining bananas,

what would have been his profit percentage ?

1
8—%
(a) 5
1
b —%
(b) 11
2
18— %
(c) 11
(d) None of the above

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

14. R (5 +342) (5-32) FT YAHS FYHA «

15.

16.

JNBY-D-MTK

®, 1 8 + 20T YATCHS YA T R 2

(a) 2+ 43

b) 3-42
(e) |
@ V7 +1

e e faww quis (1 & @21) I g @n
o & 8 ¥ fawfe fopan e, @t Swwer ==
B 2

@ 3
b 2
© 1
TE AT T @ b AT 1 8 A |

N

frefafga wuAi w fa=m

1. 3R nwH gAql F’@&Eamal number)
- ) R &P s
21

2. A m ©h famm quih(odd integer) &, A

m4+4ir;|2+11 w
(integer) ® |

I FHUE A § BHE-AVE TE YE 2

(a) had 1

(b) FaSA 2

(© 13 22

(d T LIH2

(d)

=

17. 38 fem ™1 8 % n-1, n 3 n+1 F

18‘

19,

20.

(6-A)

5 fawfsa & #@, F&f n ™ W s
(positive integer) ? | Fafafes 4 @ o=
TR

(a) %+ 1)H 5 fawa a2

(b) @%-1 5 fawfoa w2

(¢ (n%+n) @ 5w w2

(@ (%-n)® 5 fawfya w2

5 37! <l 98 Ted €1 T Sl 8, f5a Iz
18 3t 11 ¥ fawfoe e S, & Ivwe
7 ST 8 2

(a) 99981

(b) 99988

() . 99997

(d)h. 99999

U AT oH-37 §, AX BHI T 20,00037 &
st 5y ae R I 2 3R BA ASI T 12,000
HAENM4adae e 8 | 3@ 9 3/ 5% H
2 W GIYRY SIS W gohal ST 918d & | 39
fyer # w1 foran @ am 2

(a) I R &

(b) B, T 6,000 Al 2

(¢) A, T 6,000 B am

(d) A, T 4,000 BHI &M

30 BE1 ATt Ga9H A ° 7fora § 3fiEd 37 65 8
3R 35 B! 9 Y99 B # iU | 3iEa 37
708 | afe s § Ig g Smar & 6 I fi
e Ufaf® § 47 F W W nerdt | 74 fomar mn
2, A1 3F1 el % 3Ed 37 (TTT) w1 E 2
(a)
(b)
(¢) 6811
(d

67-28
67-58

68-63
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14.

15.

16.

JNBY-D-MTK

If the positive square root of
(5 + 342) (5 - 342) is o, then what is the

positive square root of 8 + 2o ?

(a) 2+ 43
) 3-42
© JT=1
@ V7 +1

When every even power of every odd integer
(greater than 1) is divided by 8, what is the

remainder ?

(a) 3
(b) 2
(e 1
(d) The remainder is not necessarily 1.

Consider the following statemog@

1. Ifnis anatural num Qi:hen the
2
number we t4 also a natural
K}
number

2. If mis an odd-integer, then the number

m? + 4m? K", <
T 18 an integer.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(c) Both1and2
(d) Neither 1 nor 2

(¥

17.

18.

19,

20.

A)

It is given that 5 does not divide n — 1, n and
n + 1, where n is a positive integer. Which one
of the following is correct ?

(a) 5 divides (n® + 1)

(b) 5 divides (n® - 1)

(¢) 5 divides (n + n)

(d) 5 divides (n®—n)

What is the largest 5-digit number, which
leaves remainder 7, when divided by 18 as
well as by 11 ?

(a) 99981

(b) 99988

(c) 99997

(d) 99999

In 'a business dealing, A owes B ¥ 20,000
payable after 5 years, whereas B owes A
¥12,000 payable after 4 years. They want
to settle it now at the rate of 5% simple
interest. Who gives how much money in this
settlement ?

(a) Both are at par

(b) Bgives ¥ 6,000t0 A

(¢) Agives T 6,000to B

(d) Agives T 4,000t0B

Average marks in Mathematics of Section A
comprising 30 students is 65 and that of
Section B comprising 35 students is 70. What
are the average marks (approximately) of both
the sections if it was detected later that an
entry of 47 marks was wrongly made as 74 ?
(a) 67-28

(b) 6758

() 6811

(d) 6863
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21.

22,

23.

JNBY-D-MTK

'ﬂﬁu@ﬂ( B'HWUT x2—7x+1=0 %ﬁ'{ﬂg,
@ ot +pt FAA TR ?

(a) 2207

(b) 2247
(e) 2317

(d) 2337

360 & @t PrEst (¥F) ® wed A
Frafafaa wuai w foamm Hifse .

1. TUFEST 6 e 24 2 |

2. |t UEE! ST IR 1170 |
39 HYAl § F B/ TE E 2
(a) a1
(b) HadA 2
(¢ 13 22m

@d TALITIE2

XYXYXY St 6-3/ha d&mm & an #§ fomm
| I8 G WIS § -

(a) Had 3IAR 79
(b) had 73R 138
(¢) 8,133 374

d 3,7,133R37¥

24,

25.

26.

27.

(8-A)

3% _93it 3% g HCF=IT 2 ?

(ay  87-1

& 8%-1

& 8§ -8

@ 31-9

Mx= |44 a/d... B, AxFAA IR ?
(a) 2

(b) 4

(© 8

d 16

mmmﬁnwﬁ@ﬂfl(m+n)ﬂ
Han o F=1 8 ed fF 33m + 22n, 1219
IS B ?
@ 3
b) 4
() b

(d) 10

3 AT F PEEA 2160 7 3R W HCF
122 | gfe 21 wEared & anl &1 ATHS 4896
2, O ST ST T HTeY TR 2

(a) 24
(b) 36
(c) 48

(d 96
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21.

(a) 1lonly 'Q
S
(b) 2only &
N3
N
() Both1and 2 $Q
$

(d) Neither 1 nor 2
23. Consider a 6-digit“"number of the form

XYXYXY. The number is divisible by :

(a) 3and7only

(b) 7 and 13 only

(¢) 3,13 and 37 only

(d) 3,7,13 and 37
JNBY-D-MTK (9-

If o and B are the roots of the equation
2 - T% + 1= 0, then what is the value of
ot + B4 ?

(a) 2207
(b) 2247
(e) 2317
(d) 2337

Consider the following statements in respect
of all factors of 360 :

1. The number of factors is 24.
2. The sum of all factors is 1170.

Which of the above statements is/are correct ?

24,

25.

26.

27.

A)

What is the HCF of 322 - 9and 3%-9 ?

@ 3%-1

® st-1

(&) 32-3

@ 38'-9

Ifx= 4J4W , then what is the value
ofx?

(a) 2

(b) 4

() 8

(d) %, 16

Let'm and n be natural numbers. What is
the minimum value of (m +n) such that
33m + 22n is divisible by 121 ?

(a) 3
(b) 4
() 5
(d 10

The product of two numbers is 2160 and their
HCF is 12. If the sum of the squares of the two
numbers is 4896, then what is the mean of the

two numbers ?

(a) 24
(b) 36
(e) 48
(d) 96
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28.

29,

30.

JNBY-D-MTK

QF JIY PHA g ¥ 398 afss & | R A
oy PH Iy i gt R R Q i ey S H
g 1 g | 35 afafts R 9l s oy
dg0ad # AR | Pl QR Iy W
INTHS T R ?

(a) 3594
(b) 38a¥
(¢) 3999

(d 4599

AR a, b I ¢, By ABC H yomd £, @
Ja + Vb - Je wE -

(a) FAOCHS B
(b) EFTHS B
&
(¢) YK (non- -negative) %§

(d) A (non- posm@\%

$
<R HfeAT (bells) & S ghum: 15 e, 25 fime,
35 e 31t 45 ffe & fdue o awdt & | IR

i ufeat 9 A M. Wasd &, 9t o 72wl
3 iR fopaft e w w1y s 2

@ O
d) 1
(c) 2

d 3

31.

32.

(10-A)

A A a, b, ¢ 3R d TR v quites
(positive integers) &, 39 YK f
a+b+c+d=200 8 | I

S=(-1*+ (-1 + (-1 + (-1 &, A sH
fopamt gvrfer w & 2

(a) T
(b) @&
() dH

(d) =R

wE 9770140 Wi R
(8) 379 wfha 837 T
(b) 83# WfH7 378/ T
(c) 373 833MI &

(d TA37H, TH 83T

Frafafea st w faem Hifve .

1. logy, 50 U 9fHT €& § |
2. logygo 10 T T & 2 |
394 H B § HH-AVA T RE 2
(a) %ad 1

(b) ad 2

(© 13 23M

d T@1L,TE2
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28.

29.

30.

JNBY-D-MTK

The age of Q exceeds the age of P by 3 years.
The age of R is twice the age of P and the age
of Q is twice the age of S. Further, the age
difference of R and S is 30 years. What is the
sum of the ages of P and Q ?

(a) 35 years

(b) 38 years
() 39 years

(d) 45 years

If a, b and ¢ are the sides of a triangle ABC,
then va + vb — Ve is always :

(a) Negative
(b) Positive
(¢) Non-negative

(d) Non-positive

There are four bells Which ring ab an interval
of 15 minutes, 25 minutes, 85 minutes and
45 minutes respectively. If-all of them ring at
9 A.M., how many more times will they ring
together in the next 72 hours ?

(&)= 0
b)) 1
e 2

(d 3

31.

32.

(11-A)

Let a,b,c and d be four positive

integers that a+b+c+d=200.
IfS = (1% + (1) + (= 1)° + (-1)%, then what
is the number of possible values of S ?

such

(a) One
(b) Two
(¢) Three
(d) Four

The number 97°%= 143 is divisible by :

(a) 37 butnet 83

(b)” “83'but not 37

(¢c) Both 37 and 83

(d) Neither 37 nor 83

Consider the following statements :

1.  logyo 50 is a rational number.

2. logjqp 10 is an irrational number.

Which of the statements given above is/are

correct ?
(a) 1only
(b) 2only

() Both1and?2

(d) Neither 1 nor 2
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34. e 17 Afgemd ok 24 769 T s w1 5 & &

35.

36.

JNBY-D-MTK

U H FHd & AR 12 wfgend it 23 gov I
%M i 67§ @ W wa &, @ Fafofea §
¥ AT GE B ?

(a) 13 Wigemait i GaaT = 18 YT <1 g&wal

(b) 11 wfEeed I g&aT = 16 Geu1 hi 2ar

(c) 13 wfgenaii &I g&rar = 17 Jo61 hi g&r

(d) 11 "feenad & gaar = 15 To§1 i ggw

A1 99 A, B 3 C U% 919 U 3l HI 66 §
TR & | T C 3Hohell 36 2 & 12 92 &
W Hhal 8 | Thl & W % fou, 5@ 98 @l
Bt B, @ I 99 = @y @ Ru 9@
2 tHe F 9, 99 C H §2 = oA Sam 2

3R ZH B WA | g e o T € | ¢ e

TR E ?
8} -
(b) 2
kel 4
d 6

A, B 3R C U% &0 @l HAW: x, 1-5x 3N 2x
fei # oo = wa 2 | 3R A v Wy fraww
M QU H 8, A T8 68 U@ F PraE
Terar s = 2

(a) 2:3:4

b) 6:4:3

() 3:2:1

d 4:3:2

37.

38.

89.

40.

(12-A)

ﬁw%%awﬁmﬁaniﬁﬁq:
1. n’-n, 63 9STR |

2. n’-n, 5AUSTR |

3. n°-5n’+4n, 1208 W § |
I HYAl § | PH-Y TE E 2

(a) haer 130 2

(b) had 23R 3

(c) had 13 3

d 1,23R3

anTRa S = 9274 27 3ifaw e FAT R 2
(a) 3
(b, (6
@\
d 9

J3+1
ik S

0 R 2

J3-1

o1y V3+1

» P
@ -y w

(a) 60

(b) 4543

© 3043

@ 90

% §C U # 1@ A 1fd 15 knvhr B | 3R @
T1a grn Hit e § 42 km 3Ry 6 Rgda

fesn & 28 km w9 T # @F wdl g, qF W
Hrafgwn g2

(a) 25 km/hr
(b)
(¢) 4'5km/hr

(d) 6 km/hr

3 km/hr
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34.

JNBY-D-MTK

If 17 women and 24 men can do a piece of
work in 5 days and 12 women and 23 men can
do it in 6 days, then which one of the following

is correct ?

(a) Efficiency of 13 women = Efficiency of

18 men

(b) Efficiency of 11 women = Efficiency of

16 men

(¢) Efficiency of 13 women = Efficiency of

17 men

(d) Efficiency of 11 women = Efficiency of

15 men

Three taps A, B and C together can fill a tank
in 6 hours. Tap C alone can fill the tank in
12 hours. To fill the tank, when it is empty, all
the three taps are started to r. After
working t hours, tap C is clo%s&&nd thetank
is filled in 8 more hours. W??t’is t equal to 7
R
@

(a 1
(b)
(c)
(d)

(= > T - ]

A, B and C can complete a work in x, 1-5x and
2x days respectively. If they complete the work

together, in what ratio should they be paid ?
(a) 2:3:4
(b) 6:4:3
¢ 38:2:1

(d) ~ 4:8:2

37.

Consider the following statements :

3 _n is divisible by 6.

1. n
2. 0’ —n is divisible by 5.
3. n’-5n°+4n is divisible by 120.

Which of the statements given above are

correct ?

(a) 1and2only
(b) 2and 3only
(¢) 1and3only
(d 1,2and3

38. What is the last digit of the sum S = 9% 4 27"

(13-A)

(a) 3
(b)%.(6
(© \T
@ 9
g
fx = V3+1 V3 , then what is

and y = ——
\E—l e J§+1

the value x° — y3 ?

(a) 60
(b) 4543
(¢ 3043
(d 90

The speed of a boat in still water is 15 km/hr.
If it can travel 42 km downstream and 28 km
upstream in the same time, then what is the
speed of the stream ?

(a) 2:5km/hr
(b) 3 km/hr
(¢) 45 km/hr
(d) 6 km/hr
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41. T 10,000 ® Q1 9 & foQ 20% H a1fier o |43, FEHE 1 - x - x* + X F wed F F=fefaa
e &9 & T HW W THYTG WA 3R Fol W fo=m $ifte, s&f 0 & gl gen
HIYRY ST T 3l 41 8 2 (natural number) ® :

~ 2
(@) © 842 1. J@1-2x+x ﬁW%I
2. TYW1-x"TUSTR |
(b) T 756 ]
IR Al § ¥ BHEA g AR 2
e (@) Fad 1
d) T 542 (b) had 2
(¢) 13 22Fl
@ AM1UFE 2

42. Wg9S (polynomial) a(b — ¢)(x — b)(x — ¢) +|44. ‘m & T3 wFl & forw mx2+mx+8x+9Q'°F:
bc—a) (x—c)(x—a) + cla—b)(x-a)(x-b) quiart B 2
%éaﬁﬁﬁm%ﬁaawﬁqtﬁwa@q:

Q () 1.4
S\\
L LHEIHEOR | NV b 4,9
Q>
N
QQ © 9,16
2. T TOTI 1 —OEN
x 1 U7 (a &b c)ca)® | & e
. 4 2
I wo § & PR T A 45. uax=a+b+{f-‘jb
a-+
a+b ab 2 2
y= + %,?h(::—a) —(y=b)° =l
(a) wad 1 4 a+b 3
o 1 8 ?
(b) Had 2 (a) a’
(b) b
(¢) 13 22HT
(c) ab
(@ Td@1L,T82 @ a’b?
JNBY-D-MTK (14-A)
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41. What is the difference between simple |43 Consider the following statements in respect

+

of the polynomial 1 - x — x™ + x"*!, where n is

interest and compound interest on ¥ 10,000

a natural number :
for two years at 20% per annum compounded

hadbvsicly ) 1. Itis divisible by 1 - 2x + x°.
9.  Itis divisible by 1 —x".
(a) T 842
Which of the statements given above is/are
(b) ¥ 756 correct ?
© 7641 (a) 1lonly
(b) 2 only
(d) ¥ 542

(¢) Both1land?2

(d)«. “Neither 1 nor 2

42, Consider the following statements in respect
of the polynomial a(b — ¢)(x — b)(x — ¢) +
blc—a)(x-c¢)(x—a) + cla-b)(x—a)(x-b):

44, For what values of m, is mx? + mx + 8% + 9

a perfect square ?
\\g’\'\\
: 2. § (a) 1,4
1. The coefficient of x” is 0%2)
Q\Q% (b) 4,9
2. The coefficient @ is (a —b)(b=¢) (c—a). i S
(d) 4,16

Which of the statefents given above is/are

correct ? 3
45. Ifx=a+b+ﬁ andy:ﬂ.Fﬂ’
4a +4b 4 a+b
(a) 1only ’ 3
then what is the value of (x—2a)"—(y—b)" ?
(b) 2only W e
(b) b’
(c) Bothland?2
(c) ab
(d) Neither 1 nor 2
(@ a’b?

JNBY-D-MTK (15-A)
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46. T=fafes w fF=m Hifvw . 48. AR tan® 0 + cot? 0 = m, @ tan 6 + cot 6 I

o= 4T 8 ?
11 cos49—s'm49=ﬁg—§—,0<9<%
b=dan 9 (a) ,/,,’m+2+2
1
2. cosecO+cot0= ——
cosec O — cot 0 (b) 1Nm +4+2
0<9<g
(e) J‘Nm+2+2+2
- 2
3. cos28—sin29=1 L E’,O<€l<E

2
LY $ (d) wa‘/m+4+2+2

39 arfieRon ° ¥ -t Tt § 2
(a) ae 13 2 49. 6_4sm9,0595-§mnﬁmqﬂw%?
(b) hae 230N 3 (a), 1
b
(c) et 13 3 \§® b 2
S\
&2’ (c) 4
(d 1,23R3 Q‘b
%Q\ @ 6
N

4. TR sino= %32‘ 2. @

2 anc . . 2 200 _
Gan ' + Boe 9)2 (cearmy Wt 9)_2’ I 50. 4 cos” 30° + 2x sin 30° — cot“ 30
- 6 tan 15° tan 75° =0

BT HE 71 R 2 _
1 TGE F 1A x B TH 18 2
121
(a} T
(a) 1
b 182
9 b 2
(c) 196
9 (c) 3
225
@ 4 d 6
JNBY-D-MTK (16-A)
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46. Consider the following :

i 15 cos48—sin46= @
1-tan® 0

2. cosecB+cotB= 1

3. cos2 0 —sin 0 = 3
1+tan® 0

Which of the above equations are identities ?

cosec ) —cot O’

1-tanZ 0

n

,0<0< —
2

0<6< e
2

n

, 0<B< =
2

49,
(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only S\\§®
S
(d) 1,2and3
N
S
47. If sin0=22 then what WNd value of
13
(tan8+secﬁ)2(cosec9—oot8)_2, Dol 2
2 |50.
121
(ﬂ) T
@ =2
9
(c) 1%
9
a2
4
JNBY-D-MTK (17-A)

If tan® 0 + cot® 0 = m, then what is the value
of tan 6 + cot 6 ?

Jm+2+2
Jym+4+2
© (Jymrz+z+2
@ |ymrd+2+2

(a)

(b)

What is the/minimum value of 6 —4sin 0,

T
06 =7
2

(@) 1
(b) 2
(c) 4
(d 6

What is the value of x that satisfies
4 cos” 30° + 2x sin 30° — cot2 30° -
6tan 15° tan 75°=0?

(a) 1
(b) 2
(¢) 3
d 6
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51. 55.
sec250°-cot240°
4 tan 13° tan 37° tan 53° tan 77°
& HE T 2
a) 2
(b) 3
c) 4
d b

52. (1+cot29](1+cosﬂ)(1—c059)—

(1 + tan? 0) (1 + sin 6) (1 — sin 0)
T HE FTE ?
&y =3
(b) 0
{C) 1 56.
d) "2

53. 1‘1‘%2c0329+sin0—2=0,0<ﬁsg, GG
1A F1 8 ?

n N
(a) 6 g\\g
b = ¥
4 Q‘b‘
@ = QQ\
s
T
(d) -

54. R TR & W @1 & Al & FN
aﬁmmnﬁrﬂmmzmﬁaﬁtaﬂ%gqﬂ
@ar & | i 3rEEA HI BT 30° F 45° B A
6 foe wrd €, 3R swe faftes ora o vEe
7 ¢ fime @ €, @ Fefafea d @ 9 g
22
(a) TT7<t<8
(b) 8<t<83
(¢) 83<t<86
(d) 86<t<89

JNBY-D-MTK (18-A)

cos? 82° + cos? 58°

T Hfgen S % % W @l B, A gt 6
g h (M d) Iad wd | mewh 2
Teh TR & IS o1 3949 HIT 60° & 3R T &
T 1 IFSAEA HIVT 30° B | A hH FEE F= N
22
(a) 2h
(b) 3h
(c) 4h

(d) 5h

HH S ABC 5 cm, 12 em 31 13 em Yadf
e i Gy | afz o A & ol
chﬁéﬂﬁaﬁﬁﬁiﬁmpg,?ﬁﬂip
T 0 41 81 2

(a) 24
(b) 48
(¢) 60

(d 90

OABC U #Haqd # fome fFF ofif v qu w
forg 8 fome &5 0 2 | AR wwegis #
8% 3243 T em ®, A gA I B wn R 2

(a) 4cm
(b) 6cm
(¢) 8cm
(d 16cm
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cos? 82° + cos? 58°

51. What is the value of 3 3
sec” 50° — cot” 40°
4 tan 13° tan 37° tan 53° tan 77° ?
(a) 2
(b) 3
(¢c) 4
(d b5
52. What is the value of
(1 + cot® ) (1 + cos 6) (1 — cos 0) —
(1 + tan® 0) (1 + sin 0) (1 — sin 6) ?
(a) -1
(b) O
(e)r =1
d 2
53. If 2cos®0+sinB-2=0, 0<O< g then
what is the value of 6 ?
T
(a) ry \§®
& X S\
: S
n
(c) 3 $Q\Q
" $
(d) ry
54. A person on th¢ top ‘of a vertical tower
observes a car moving at a uniform speed
coming directly towards it. If it takes
6 minutes for the angle of depression to
change from 30° to 45° and further
t minutes to reach the tower, which one of the
following is correct ?
(a) T7T7<t<8
(b) 8<t<83
(¢c) 83<t<86
(d 86<t<89
JNBY-D-MTK

55.

57.

(19-A)

A woman is standing on the deck of a ship,
which is h (in metres) above water level. She
observes the angle of elevation of the top of a
tower as 60° and the angle of depression of the
base of the tower as 30°. What is the height of
the tower ?

(a) 2h
(b) 3h
() 4h
(d) 5h

Let ABC be. a right-angled triangle with sides
5 cm, 12 cmi and 13 em. If p is the length of the
perpendicular drawn from vertex A on the
hypotenuse BC, then what is the value of
13p ?

(a) 24
(b) 48
(c) 60
(d 90

OABC is a rhombus whose three vertices lie

on a circle with centre at O. If the area of the
rhombus is 323 square cm, then what is the

radius of the circle ?

(a) 4cm
(b) 6cm
(¢) 8cm
(d 16cm
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58. UH U9 &% YHN &% $l 25% W@l foA1 ST |61
21 3R p wh o # wfowm w@ad R, @
Feffard a smamadi 2 2
(a) 16<p<18
(b) 14<p<16
() 12<p<l4
(d 10<p<12

59. U 3IW U9 H THEHHE JFaT F o gy i |62
w1e 9 2 | fiw e o % et g g W
3 A A U TN F FA T e d o
I R 2
@) 2:1
) 3:2 S\\6®

&s
¢ 4:3 \Q'b'
$Q
@ 5:3 N
63.

60. TH TV F fawol L FEE 11 cm B | THH
gH &I 240 T ot & | TR waTS, WISE
3R F9TE T TTH TR 2
(a) 16cm
(b) 17em
(¢ 18cm
(d) 19em

JNBY-D-MTK (20-A)

s frge et yonell 1 &= 12 em, 16 em
3 20 em B, % A (inscribed circle) T
SABe (TTNT) T R 2

(a) 48 T em
(b) 503 cm
(¢ 523 cm

(d 549 em

U 39 FEgRE AT b o YISl
AT 395 a5 JHIF #% & o o SUe 2 |
A} ¥ oG H F9E h 3R W smum H
s v 2, @ frafofes § & war wd & 2

(a» h=r
(b) h=2r
© 2h=3r

(d 3h=4r

Q%ﬁ?ﬂﬁﬁﬁﬂiﬁ%ﬂﬂﬂBOmﬁOcmaﬂT
23 m 40 cm & | 390 HUH AR I FIHR
5e g 9§ | F-A-F0 feadt Treal #
HATEIHAT & ?

(a) 30
(b) 36
(©) 169

(d 221
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58. The surface area of a cube is increased by
25%. If p is the percentage increase in its
length, then which one of the following is
correct ?

(a) 16<p<18
(b) 1l4<p<16
(c) 12<p<1l4
(d 10<p<12

59. A solid cube is cut into two cuboids of equal
volume. What is the ratio of total surface area
of the given cube to that of one of the cuboids ?
g 271
(b) 3:2

&
(¢) 4:3 @
O
(d 5:3 $Q\Q
$

60. The length of a diagonal'ef a cuboid is 11 ecm.
The surface area is 240 square cm. What is
the sum of its length, breadth and height ?

(a) 16cm
(b) 17cm
(¢) 18cm
(d) 19cm
JNBY-D-MTK

61.

62.

63.

(21-A)

What is the area of the circle (approximately)
inscribed in a triangle with side lengths

12 em, 16 cm and 20 cm ?

(a) 48 square cm

(b)

50 square cm

(¢) 52 square cm

(d) 54 square cm

Two times the total“surface area of a solid
right circular cylirider‘is‘three times its curved
surface area. If h'is the height and r is the
radius of the/base of the cylinder, then which

one of the following is correct ?

WANY=r
tb) h=2r
(¢ 2h=3r
(d 3h=4r

A floor of a big hall has dimensions
30 m 60 cm and 23 m 40 em. It is to be paved
with square tiles of same size. What is the

minimum number of tiles required ?

(a) 30
(b) 36
() 169
(d) 221
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67.

JNBY-D-MTK

TF Ak Hl 25 3FA AT AT U FTHR
wa 6 g9 F =98 A 5 km/hr F TS I
e AT § feRdat wmg @ 2

(a) 36fe
(b) 30T
(¢) 24fe
@ 18fFe

A A ¢ s a1a v g9 & siaia ot @
BThe x & 3R s g9 F ila gwarg By
w1 &A% y & | Frafefes 3 @ #bw ad # 2

(a) 9x%= 16y2
(b) 27x° = 64y>
(c) 36x°=49y°

d 16x% = 21y?

: 2
aﬁ@mﬁaa@seg%wa?ﬁ
§A%heT I8 @ 2 Q@%

Q
(a) 50%

§§
(b) 45%
(c) 40%

(d) 35%

8 cm 3K 12cmﬂﬁTﬁm@IWm%3‘iﬁ
@ M odn swfresdt gl g smseife
Afpay &% #4918 2

(a) 16n T cem
(b) 18naM em
() 20n<em

(d) 24n T ecm

68. ABCD U aisR #2@ & foad AB=x2 | =4

69.

70.

(22-A)

FieR HegH & Fg 0 W 2x IR &
FEafgt @UT OP @l 2 | a2 £ APO = o, a1
cotB%Hg’ﬁER‘IE'{%?

(a) 2

b) 2

© 22

@ 32

T 319 dR FI g i fuemn s 2 e R

FH A AFAT AN T A 64 B GHH
HFRR HI B g 51 It § | 9 7 & g
EpE - aft B id % T e wa &

FEANY I 1 2 ?
@ 025

(b) 05

() 075

d 1

% iy ABC &t ¥R @1 fiysi P, Q, R, S #
aTaw%ﬁr#w&mm 16 cm, 12 cm,
4 cm 31 12cm%IP,R3ﬂTSﬁ¥ﬁ§ﬁ§m:
A, B 3R ¢ fifga & | Biyst ABC &1 afta =0
27

(a) 18cm
(b) 20cm
() 22cm
(d 24cm
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“l

67.

JNBY-D-MTK

()

How long will a man take to walk around the
boundary of a square field of area 25 hectares
at the rate of 5 km/hr ?

(a) 36 minutes

(b) 30 minutes

(c) 24 minutes

(d) 18 minutes

Let x be the area of a square inscribed in a
circle of radius r and y be the area of an
equilateral triangle inscribed in the same
circle. Which one of the following is correct ?

(a) 9x°=16y°

27x% = 64y>
36x2 = 49y>
16x2 = 21y”

(c)
(d)

If the length of a rectangle is increased by

2
66 — %, then by what t sh idth
3 y what percent s Q@e wi
of the rectangle be decre@ in order to

maintain the same area Q\Q(b.
(@) 50% N

(b) 45%

() 40%

(d) 35%

What is the maximum area that can be
covered by three non-intersecting circles
drawn inside a rectangle of sides 8 cm and
12cm ?

(a)
(b)
(e)
(d)

16m square cm
18n square cm
20m square cm

247 square cm

68.

69.

70.

(23-A)

ABCD is a square field with AB = x. A
vertical pole OP of height 2x stands at the
centre O of the square field. If £ APO =0,
then what is cot 0 equal to ?

@) 2
(b) 2

© 242
d 342

A solid iron ball is mélted and 64 smaller solid
balls of equal size aré made using the entire
volume of iren. What is the ratio of the surface
area, ofthe Jlarger ball to the sum of the
surface areas of all the smaller balls ?

(al 0-25
(b) 05
() 075
d 1

A triangle ABC has been divided into four
smaller triangles P, Q, R, S whose perimeters
are 16 cm, 12 cm, 4 cm and 12 cm respectively.
P, R and S contain the vertices A, B and C
respectively. What is the perimeter of the
triangle ABC ?

(a) 18cm
(b) 20 cm
() 22cm
(d 24cm
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3777 3T FIT T (10) FFHN % [o70

71.

JNBY-D-MTK

e YN § Uk 9 8 e 9g 9 e # |
frafafea fdat &1 s = 9% gy #5
Waﬁﬁ:

(a) I8 faew 939 Hifsw 3R a7 &1 3=
Fae Th HUF § eI o gwar g «fe
TE U | & fon s wean |

(b) T fowes wm7 Hifsw IRk g= +1 =
frft i os pum @ fer s gwar 2 |

(¢) I8 fawew = Hifsw IRk gm &1 ™
21 AT S I9ERT H AR eI S Feha
2, AfFT haet T HIF I ITFI | AT
IR AT fen 5 TR |

Q
(d) ﬂ%ﬁwwaﬁrﬁqu@‘%maﬁ
U | I Y9 T IO
S

feam s wepan I@$

T HEAT 277XY5 (R X, Y 3% 7) 25 @ WA
21
X 1 0H #4918 ?

T

FI7I: G TREEI9Y ST |

FYTII: X>6.

72,

73.

74.

75.

(24-A)

a, b a1 ¢ ¥ gy o= =0 & 3k
fiH ax® + bx + ¢ = 0 & Th T 2
27

3T

FYTI: cda YA 12 |

FYTI: bW aw JIE (-5/2) 8 |

¥ : Wm>n,33’fm,n3ﬁ'ﬂ'(‘r’i’@lﬁ'§?

El—>1.

n

FHITI:

FYTIL; (m'> 2n.

§¥% ;W1 A, B3R C fagHi @ o g 0

g Eier S eha & 2
HYTI : AB=5cm, BC=5cm,
CA =6 cm.
FHYT 11 : AB=3cm, BC=4cm,
CA="Tecm.
x 3 y seumTa foawm qoriss & |
97 ;. H (x + y) B 9E AfgdE w9 A
fuifta foran < wepan 8 2
FYAI ; (x +y)* = 256.
FYFII : (x+y)° < 16.
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For the next ten (10) items that follow :

Each item contains a Question
followed by two Statements. Answer
item the following

each using

instructions :

(a) Choose this option if the Question can be
answered by one of the Statements alone

but not by the other.

(b)  Choose this option if the Question can be

answered by either Statement alone.

(¢) Choose this option if the Question can be
answered by using both the Statements
together, but cannot be answered by
using either Statement alone‘\\g

S
Choose this optio \(i';b'the Question
ven by using both

(d)
cannot be answ

Statements together.

71. A number 277XY5 (where X, Y are digits) is
divisible by 25.
Question :  What is the value of X ?
Statement I : The given number is
divisible by 9.
Statement II : X > 5.
JNBY-D-MTK

72,

73.

74.

75.

(25-A)

Question : What are the unique values of a,
b and c¢ if 2 is a root of the
equation ax’+bx+c=07?

Statement I : Ratio of c to a is 1.

Statement II :  Ratio of b to a is (- 5/2).

Question : Is m > n, where my n are non-zero
numbers 2

Statement I : KA1

n
Statementll: m> 2n.
Question : Can a circle be drawn through the

points A, Band C ?

AB=5cm, BC=5cm,
CA =6 cm.

Statement I :

StatementII: AB=3cm, BC =4 cm,

CA=7cm.

x and y are consecutive odd integers.

Question: Can the value of (x+y) be

determined uniquely ?
Statement I : (x + y)4 = 256.

Statement I :  (x + y)3 < 16.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

76. ¥ : T p’ + g +q AW R, F& p, q

e 79. Fust A 2 5t et i damAr 25 cm 3
24cm§!
FYTI: 2p+qfaem | Yo ;. GEH B Y hl a1 R ?

FYTI: q-2pfasm | FYTI : A%ﬂ'ﬁ'ﬂl:‘?:.‘%%wﬁ%'

FI7I: TG M B 6 g TE g |

@%Wéﬂﬁéﬂﬁﬁ-mcmal
77. ¥99 : 99 C I 8% ¥ 8 ?
FYTI: 7em @9 HI TH 99 CH g W
30° T HIVT AN HT 2 |
FYTIL: 10 cm T8 Y ThH C g
90° T IV ARG Helt &1
NS
Q
§Q® 80. 3 C H UF a1 PQ W A W F W yWHR
fawfora #edt 2 fo6 e & &awa &1 3 T
TGS & BT & 4 AT o SO 2 |

78. ¥v7 : ¥ Pierd gEennfiT 2 2
¥ : CH Bsmang o
Fg7I: AR A yei & Aeafage i
e 9 @ @8 H =8, A FY71: ATEE F GIBA 66 T cm B |
diadt syam it s Y et B |
FYTI: EIEE H HIBA 88T em R |

FYTH: AFHU1:2:3% I H & |

JNBY-D-MTK (26-A)
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76. Question: Is p2 + q2 + q odd, where p, q are | 79.
positive integers ?

Statement I : 2p + q is odd.

Statement II :  q — 2p is odd.

77. GQuestion: What is the area of the circle C ?

Statement I : An arc of length 7 cm
subtends an angle 30° at the
centre of C.

Statement II: A chord of length 10 cm
subtends an angle {@t the
centre of C. Qg\

0
80.
N
$
78. Question : Is triangle Avight angled ?

Statement I : The length of the line
segment joining the
mid-points of two sides of A
is half of the third side
of A.

Statement II :  The angles of A are in the
ratiol:2: 3.

JNBY-D-MTK (27-A)

The lengths of two longer sides of the triangle
A are 25 cm and 24 cm.

Question: What is the length of the

shortest side ?

Statement I : The angles of A are in the

ratiol:2: 3.

Statement I :  The the

length of
pérpendicular drawn on the

longest side of A from its

opposite vertex is 6-72 cm.

A chord PQ of the circle C divides it into two
segments such that 3 times the area of the

major segment is 4 times the area of the minor

segment.

Question :  What is the radius of C ?

Statement I : Area of the minor segment is
66 square cm.

Statement I :  Area of the major segment is

88 square cm.
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3 7 a1 @t (02) ¥ # e Amfifaa 321 w|84.

farem #ifae -

Rl

30 - 60

60 - 90

90 - 120

SRSl

5

81. WA HI TEAH 1 8 ?

(a) 60
b 72
(c) 75

(d) 80

82. I wiemm (p) o wEE®H (Q Few
7(Q — P) = 9R %I HGE Hd &, a R H a1 F1

27

(a) 6
b) 5
() 3

b)) 1

M 3 et gt (02) I @ Tore fAElfaa S W

faem Fifse

heEfl

50 - 60

60— 170

70 - 80

TR

83. oA HI U FT & ?

(a) 561
(b) 52
(¢) 54

(d) 56

JNBY-D-MTK

(28-A)

gfe M wifeiest &, @ 3M 1 0 =1 8 ?

) 882
3

(b) 60
(¢) 160

(d 180

T U % fig il &ha 200 1 HiT B |
JE A F N H 8 3N 3mH FErg AN
e 2: 1% IEIE # } | HHE TS B9
T AL FQT 2T R | BA & &EhA |
% Ay foraa wfeera & gt anft 2

(a) 40%
b 32%
(c) 20%

(d) 155%

44 cm St Yo AE T FUiER e F I@H
T Y1 F WI-HIY NA Hh 39 THR TH S0
A o @ 6 ue faufa M uwhgm
I W WY FA B | A BT AEAA T8 ?

(n= 2 )
(a) 6776 ¥4 cm
(b) 6248¥d cm
(c) 5896 Y cm

(d) 5680499 cm
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Consider the following data for the next|84. If M is the median, then what is the value of

two (02) items that follow : 3aM?
Class 0-30 | 30—60 | 60—90 | 90— 120 @@ 531
Frequency 4 5 7 4 3
(b) 60
81. What is the mode of the distribution ?
(¢) 160
(a) 60
(d) 180
(b) 72
(¢ 175 85. The plinth of a house “has an area of
200 square metres. It is rectangular in shape
@ 80 and its length and breadth are in the ratio
2:1. The owner. of the house extends the
82. If the median (P) and mode (Q) satisfy the terrace by 1 m on each side. What is the
relation 7(Q — P) = 9R, then what is the value percentage of area that has increased in the
of R? terrace relative to the plinth ?
. 9 Q @ 40%
Q
. g\\ (b) 32%
&
(e) 8 (b§
Q (¢) 20%
Q
@ 1 Q
N d 155%

Consider the following data ‘for” the next

two (02) items that follow : 86. A square sheet of side length 44 em is rolled

along one of its sides to form a cylinder by

Class 40-50 [ 50-60 [ 6070 [ 7080 making opposite edges just to touch each
Frequency 4 3 1 2 other. What is the volume of the cylinder ?
83. What is the mean of the distribution ? e % :
(a) 51 (a) 6776 cubic cm
(b) 52 (b) 6248 cubic cm
() 54 (c) 5896 cubic cm
00 (d 5680 cubic cm
JNBY-D-MTK (29-A)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

87.

89.

JNBY-D-MTK

T T 1 AT 3600 T cm B | Q1 IAHA
TP F HTH 225 om N 144 FT ecm E |
I ATHA G F AT F1 8 ?

(a) 400& cm

(b) 36037 cm

(¢) 3209 cm

(@ 300% cm

s g e & afmme ot &Fwd A
36 cm 3 54 1 cm & | o1 6t FaTE TR 2

(a)
(b)
()
(d)

T ifoe

X={(x|x=2+4k & k=0,1,83,... 24}
%|mms,xmm@mm%
5 s fanedl ot & e 100 T
21 s ¥ wftewan § FEga G T
foreeft 2 2 $

10

11

12

13

12 em
14 ecm
15 em

16 cm

(a)
(b)
()
(d)

52 cm B591 At 99 & & PrewEE w1 9fmm
16-4 cm B | UGS #1 &a%a w1 8 2
156 9 em

1597 em

14-43'# cm

(a)
(b)
(c)

(d) 14-1F cem

(30-A)

91.

3 R i @ (03) ¥ F forw Aefifead w
faar #Fifoa :

fiyqe ABC #, AB=6cm, BC=8cm
AC=10cm | B 1 ™1 @@ Y91 AC &I DW
frar @ | BD s (B Fz % @i9) %1 UH g9 AB
3R BC #I HHY: P 3 Q W Hiedr & 391 Im@ ¥
feamn mn 2 |

3t

QC ! &g TR ?

(a) 44cm

(b) 4-2cm
(¢) 36cm

(d 32cm

Ife ~ ABD =0, sin 0 forersh sTet 2 2
(a) 04
b) 05
(c) 06

(d 08
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87.

89.

JNBY-D-MTK

The volume of a cuboid is 3600 cubic cm.
The areas of two adjacent faces are
225 square cm and 144 square cm. What is the
area of the other adjacent face ?

(a) 400 square cm
(b) 360 square cm
(e) 320 square cm

(d) 300 square cm

The perimeter and the area of a right-angled
triangle are 36 cm and 54 square cm
respectively. What is the length of the
hypotenuse ?

(a) 12cm

(b) 1l4cem

(c) 15cm

(d) 16cm

Let

X={x | x=2+4k, wherek=0, 1, &.24}.
Let S be a subset of X such e sum 0f no
two elements of S is What, (is the

maximum possible num@of eleménts in S ?
N\)

(a) 10 6

(b) 11
(e) 12
(dy. 13

The perimeter of a sector of a circle of radius
52 cm is 164 cm. What is the area of the
sector ?

(a) 156 square cm
(b) 15 square cm
(¢) 14-4 square cm

(d) 14-1 square cm

Consider the following for the next three (03) items
that follow :

In the triangle ABC, AB = 6 cm, BC = 8 ecm and
AC = 10 cm. The perpendicular dropped from B
meets the side AC at D. A circle of radius BD (with
centre B) cuts AB and BC at P and Q respectively
as shown in the figure.

A

91. What is the length of QC ?

(a) 44cm
(b) 42cm
(¢) 36cm
(d 32cm

92. If £ ABD =0, then what is sin 0 equal to ?

(a) 04
(b) 05
() 06
(d 08

(31-A)
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93. A A B w2

(a) b5em
(b) 48cm
() 44cm
(d 4cm

37 377 FIT @A (03) T F fow el W

faer Fifaw

95. Bl T B A% FIT 8 ?
(a) 50(3-y2)dem
(b) 25(B3-242)F em
(€ 25(3+2v2)Fem

(d 50(3-2y2)acem

96. JTeBIed & T YTFE FU1 ¢ ?

9= for M smE #, tH F PQRS % i TH gW (a) (96 - 254) il "em

2 | PHMH W UH A9 59 719 4 cm x 2 em B 3R

R$H W U a1 Sfen T R |
S

R

N

%
%,

94. IO F HIGA TR ?

(a) 100m & em
(b) 96n M cm
(¢) 50naem
(d) 481 97 em
JNBY-D-MTK

()  (92-251) T cm
(¢ (96 - 16m) T cm

(@) (92 - 16n) 9 cm

T 7 F1 31 (02) I F forg Aefiaa ® faar
HITY :

= omw #, r B % % g9 & Fwia & AEa
ABCD 2 | « DAE = 30° 3T £ ACD = 30° f&n

TR
Dmc
30°
OD
A B
(32-A)
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93. What is the radius of the circle ? 95. What is the area of the smaller square ?

(a) 5em (a) 50(3- v/2)square cm

(b) 4-8cm (b) 25(3-2+2)square cm
(c) 44cm (¢) 25(3+2+/2)square cm
(d 4cm (d) 50 (3-2+2)square em

Consider the following for the next three (03) items 96. What is the area of the shyffied Tegion ?

that follow :
Rt (a) (96 — 25n) square.cm

In the figure given below, a circle is inscribed in a

(b) (92 - 25m)square cm
square PQRS. A rectangle at the corner P that

measures 4 cm x 2 cm and a square at the corner R (c) {96 16m) square cm
are drawn.
S R
(d). (92 - 16n) square cm
S’\\Q Consider the following for the next two (02) items
that follow :
NI
&Q In the following figure, a rectangle ABCD is
@ inscribed in a circle of radius r. Given
ZDAE = 30° and £ ACD = 30°.
2
P Q
94, What is the area of the circle ? E
D C
30°
(a) 100m square cm
30%
(b) 96m square cm
(¢) 50msquare cm " "
(d) 48msquare cm
JNBY-D-MTK (33-A)
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97. qﬂ%mmm%mgmwmﬁwﬁmﬁﬁwz)yﬁ%mﬁm%ﬁﬁwﬁaﬁ
22 T
fi= oM@ #, 0 ¥ 9 T g9 F IFAld
i ABC ® | um fiflt 2 PoA=x 3k
N _yd I _BQ?
B Z0QB=y° % | 3@ OB=BQ? |
b1
(b) 5
2n
(c) E
3n
(d 5
G
99, 'x 3 y & ofiw F= HEY B ?
Q
g\\g @) 3=y
'
98. AAECWWW@ (b) 2x=3y
\
g @ (@) x=3y
(2} | ==
V3 d 3x=4y
2
(b) Erﬁ 100. If2 y = 15,41 ~ ACB fopaes su= 2 2
(a) 30°
I‘2
iy 33 (b) 40°
(c) 45°
or2
g
v d 60°
JNBY-D-MTK (34-A)
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97. What is the ratio of the area of the circle to the

area of the rectangle ?

A
(a) —
A

(b)

&

(c)

@y

(d)

SE

$

Consider the following for the next two (02) items
that follow :

In the following figure, a triangle ABC is

inscribed in a circle with centre at O.
Let £ POA = x° and £ OQB = y°. Further,
OB = BQ.

C

99.._/What is the relation between x and y ?

(a) x=y
(b) 2x=3y
(¢) x=3y
(d) 3x=4y

100. Ify =15, then what is £ ACB equal to ?

(a) 30°
(b)  40°
(c) 45°
(d) 60°

N\
S
QP
98. What is the area of A A%@\
9
G,
J3
7
B —
2J3
2
=
3B
2r2
@ =
J3
JNBY-D-MTK (35
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JNBY-D-MTK (36-A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : JNBY-D-MTK Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

T:meAHowed Tonours . MaxzmumMarks 100

2.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill'in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four respongéd (answers). You will select the response which you want to mark
on the Answer Sheet. In casﬁ fe¢l that there is more than one correct response, mark the
response which you consider st.In any ease, choose ONLY ONE response for each item.

You have to mark all yo sponses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet. \Q\

All items carry equ &rks

Before you proce mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in3ome particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you'the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(6] There are four alternatives for the answer to every question. For each question for which a wrong answer

has l:lneen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(ili) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

I S R Bl R TR 39 YR F g Y8 W e R |

JNBY-D-MTK (40-A)
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